
©Copyright 28/10/2022LF-Rev00

PL5112B - KL5112B
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

BMW R1200GS ADVENTURE (2014/2018) /BMW R1250GS ADVENTURE (2021)

1/6
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

N° Descrizione/Description Caratteristiche/Features Codice/Code Quantità/Quantity

1 Supporto laterale - Lateral support - Untere Halterung
 Support latéral - Soporte lateral - Suporte lateral

RIGHT SIDE - 1 (Right)

2 Supporto laterale - Lateral support - Untere Halterung
 Support latéral - Soporte lateral - Suporte lateral

LEFT SIDE - 1 (Left)

3
Piastra di supporto - Support plate 
Plaque de support - Trägerplatte 

Pletina de soporte - Placa de apoio
LEFT SIDE - 1

4 Vite - Screw - Vis - Schraube
Tornillo - Parafuso

TSPFF M6x16 with THREADLOCKER 616TSPFF 4

5 Vite - Screw - Vis - Schraube
Tornillo - Parafuso

TSP M6x16 616TSP 4

6 Vite - Screw - Vis - Schraube
Tornillo - Parafuso

TCE M6x16 616TCE 2

7 Vite - Screw - Vis - Schraube
Tornillo - Parafuso

TBEI M6x50 650TBEI 2

8 Vite - Screw - Vis - Schraube
Tornillo - Parafuso

TCE M6x12 612TCE 2

9
Rondella - Washer
Rondelle - Scheibe
Arandela – Arruela

Foro Ø6mm 6RONZ 4

10
Rondella - Washer
Rondelle - Scheibe
Arandela - Arruela

Foro Ø6mm/ Esterno Ø20mm Sp.1,5mm 620RON 2

11 Cavallotto - Retaining clamp - Patte de fixation 
Abrazadera - Halteklammern - Abraçadeira de fixação

- Z2270 2

12 Gommino - Rubber Cushion - Coussin en Caoutchouc 
Gummikissen - Cojín de Goma - Borracha

- Z2710X 8

13

Gommino Maggiorato - Rubber Cushion with Increased Height
 Coussin en caoutchouc avec hauteur accrue 

 Gummikissen mit erhöhter Höhe 
Cojín de goma con mayor altura  
Borracha com altura aumentada

- Z2710AX 4

14 Funghetto - Support hook - Befestigungspilz 
Crochet support  - Gancho de soporte - Gancho de suporte

- Z125X-M6 4

15
Nasello - Attachment Clamp

Pince de Fixation - Befestigungsklammer
Abrazadera de Fijación - Braçadeira de Fixação

- Z124 2

16 Dado - Bolt - Ecrou
Mutter - Tuerca - Porca

Dado Auto Bloccante
Flangiato Basso M6 (H.7mm)

6DADIABFN 6

17
Componenti Originali - Original Parts
Parties Originales - Original Bauteile

Componentes Originales - Componentes Originais
- - -



©Copyright 28/10/2022LF-Rev00

PL5112B - KL5112B
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

BMW R1200GS ADVENTURE (2014/2018) /BMW R1250GS ADVENTURE (2021)

2/6
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

1 32

4 10

11 12 13 14

15 16

5 6 7 8 9

M6x16mm M6x16mm M6x16mm M6x12mm

M6x50mm

Z125-M6

8mm

4mm / 5mm

RIGHT SIDE LEFT SIDE

Hole Ø6mm Hole Ø6mm/
External Ø20m/
D.1,5mm

mmCHECK THE SCREW LENGTH HERE

Z2270

M6
Z124

Z2710X
Z2710AX



©Copyright 28/10/2022LF-Rev00

PL5112B - KL5112B
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

BMW R1200GS ADVENTURE (2014/2018) /BMW R1250GS ADVENTURE (2021)

3/6
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

A1

A

RIGHT SIDE

1

1

1

1

1

7
7

8

8

3

5

5

17

17

17

17

11

10
10

11

17

17
16

16

17

16

16

16

16

MOUNT

MOUNT

A1 A2

A3

LEFT SIDE

1
1

B
B1

B2



©Copyright 28/10/2022LF-Rev00

PL5112B - KL5112B
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

BMW R1200GS ADVENTURE (2014/2018) /BMW R1250GS ADVENTURE (2021)

4/6
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

MOUNTING FOR ALA36 CASES LEFT SIDE

RIGHT SIDE

1

2

5

4

9

9

4

4

4

5

6

6

15

15

1213

13

12

12

12

14

14

9

9

14

14

13

13



©Copyright 28/10/2022LF-Rev00

PL5112B - KL5112B
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

BMW R1200GS ADVENTURE (2014/2018) /BMW R1250GS ADVENTURE (2021)

5/6
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

MOUNTING FOR OTHER 
MONOKEY CASES

LEFT SIDE

RIGHT SIDE

1

2

5

4

4

4

5

6

6

15

15

12

1212

12

12

12

12

12

14

14

14

14



©Copyright 28/10/2022LF-Rev00

PL5112B - KL5112B
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

BMW R1200GS ADVENTURE (2014/2018) /BMW R1250GS ADVENTURE (2021)

6/6
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

MOUNTING FOR DLMK36 CASES LEFT SIDE

RIGHT SIDE

1

2

5

4

4

4

4

5

6

6

15

15

12

12

12

12

14

14

13

13

14

14

13

13


